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Bonus 1 for this semester:

Class 1s over, you walk out of the academic building. Oh, no! It
rains, heavily! Is 1t better to run back to your dormitory than to
walk? Is there an optimal velocity? If so, what condition(s) does

it depend on?

You can freely choose to do or not to do this work.

If you choose to do, you have 1 week (from now) to finish it.

You can organize a team of which the number of members are no more than 3.
You can deliver your work by paper, presentation (in video) or animated demo.
You will earn up to 3 points to the total score.

Each member 1n a team will earn the same bonus.
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You can turn to me for help, but not necessarily get my positive response.
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Flaps (2 &) - speed for lift, it helps reduce both takeoff and landing speeds.
Question: How does it work?
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Endurance rotation is 67, 68 RPM.
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get ready to. match our spiniwithithelretro thrusters.
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It takes 2 seconds for a bear to fall into a 20 m deep trap.

What color 1s the bear?
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If the Earth had no spin, F = mg, g, = -

Due to the spin,
the inertial centrifugal force at latitude ¢ is

fe = mw?R cos @,

According to the cosine theorem,

g = (g% + w*R? cos? ¢ — 2g,w?R cos? )/?

w*R? 2w?R e
=g (1 +—5—cos? ¢ — cos? (p)
9o 9o

21 FMEHRA

2m
24+3600

Therefore, w?R/gy < 1.

rad/s = 7.27x10% rad/s, R = 6.37x10% m.
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20?R el
‘g=go(1— s coszfp)
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12w?R =
=go 1_5 B cos“ @

0

=g 1 “’ZR( 20 +1)
= g 1 = 5~ (cos2¢

2R 1 Imin = Jo — @?R, when ¢ = 0, the equator.
=go(1 _w_) — =Rw?cos2¢ ‘ {
290 2 Imax = Jo, When ¢ = 90, the poles.

Why do motorcycles lean while turning?
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Statistical law - background noise of the world
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